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Simple Interest Worksheet 4 7

1) a) The formula for simple interest is: x# prf’

b) Rearrange this formula to find:

i) Time: il) The interest rate: iiiy The Principal:
f = 2 i _,___._I— X (Q > ‘,/n ‘F = __:!::
P FE e

—_—

Answer each of the following... (l

2) If Michael invests $2000 in the bank at a rate of 5.5% for 6 years how much
interest will he make?

T = oDD(o.OS_SP)[é)
3) Kelsey takes out a loan fgg-_;g ,;o start a business after high school. The bank

charges her 8% interest for the loan. After 5 years how much interest will be added
ontotheloan? - = (5 (0.0 X5)
T = 2Ye=

4) Jessie invests $3345 in the stock market. Over the 3 years she has this invested
she gets an average return of 7.8%. How much will her investment be worth after the

3years? .= g EFA o w0y Ai P"’ p/’t

¥
A="%122.13
Scott takes gets a student loan to go to coliege after high school. If he pays $750
in interest at a rate of 3%, how much must the loan have been for originally? P

0 A (T

e
6) Taylor has just won $4,250 from the 50/50 at the Sea Dog's game and decides to#’ l (w
invest all of it. If he makes $1275 with a 5% interest rate, how long must he have

had the money invested? 4= 1375 -~ ¢ )

Erime) iy
, T)Atw?'latrategosuldyour;é —omv st $1£000 and make $28 OaftﬁrSyears? $/ 0{\
fg:-’:o(g))\{ / m T :azososo (" J

8) What will the total value of an investment of $5000 be if it has an interest rate of
7% and is invested for 20 years? A= Soco 4+ Sous (o ?)Ca=)

\Qve 0 A =Ploess 5ﬂ/?

organ has an investment worth"5130,000 dollars after 20 years. If his original :E
stment was p' .5}0‘000 what must the interest rate have been?

T = [3>005 -~ Suseo 2 Sebhs

x/:") nf.
T = fesoo 520> (35
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11. A bank is ul:ﬁ:rjng a Eimpl:.'

interest rate of 3.2% for

a guaranteed investment

certificate with a S-year term.

a) What principal would
you need to invest if you
wanted to have $20 000
at the end of the term?

I e 'I.-. .Ill'l 7
b) Hclong Yould it take : =4
for the value of the GIC to be 525 0007 Y é
am T - 1 L= &0 it N . d V{
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e e
N to go to college after high school. If he pays $750

T =75 o — :
(=093 P(/? AN

R
Scott takes gets a student loa
in interest at a rate of 3%, how much must the loan have been for ori-gmall!?
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8 . 3 Compound Interest:

/ Future Value
/ nt
A= P(l + i) Determine the future value of an investment that earns compound

n interest.

Terminology Tango

Click on the picture to verify the match.

daily, once a year
bi-weeklyw, ", ....-vtwice a year
semi- annually«---" v ~four times a year

weekly™®-... w " ,,..‘twelve times a year
mOnth|y4------ ~.,..0:. 0A26 tlmes a year

quarterly«"" 62 times a year
annually 4365 times a year
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Interest is added to the principal periodically

throughout the year. New interest may be paid on the
principal plus the interest. The interest rate is stated per
annum and is divided by the number of compounding periods.

A=P(1+%) [] A - Pj

A = final value of the investment ...(principal + interest)
P = principal

r = annual interest rate

n = number of compounding periods in a year

t = term of the investment or loan in number of years

nt
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EXAMPLE #1: If $1000 is invested at 8 %/a compounded
semi-annually for 2 years, how much will the
investment be worth?

Using the simple interest formula...

I=1000(0.08)(6/12)
= $40 (after 1st interest period)

New principal = 1000 + 40
= $1040

[ =1040(0.08)(6/12)
=$41.60 (after 2nd interest period)

New Principal = 1040 + 41.60
= $1081.60

[=1081.60(0.08)(6/12)
= $43.26 (after 3rd interest period)

New Principal = 1081.60 + 43.26 ) / 0-08
= $1124.86 = [0\ [+ 7

I =1124.86(0.08)(6/12)
= $44.99 (after 4th interest period)

New Principal = 1124.86 + 44.99
= $1169.85

Compound Interest Formula...

Q: P(1+ %)nj

SAME
ANSWER?
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EXAMPLE #2:

Calculate the final value of an initial A=—p (1 N 1)
investment of $6000.00. Interest is B

nt

paid at 4% per annum, compounded (2)(3)

.04
semi-annually, for three years. A = 6000 (1 + T)

A = final value of the investment ...(principal + interest)
P = principal
r = annual interest rate BEEEC1+E, B42 076

n = number of compounding periods in a year

—

t = term of the investment or loan in number of years 7 A —.— EroGE,. 974516
b> WW{ \S the \n]rVW‘

A-f
> (ﬂ% 97~ b0
;Wﬁ\o-”ﬂ
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EX #3: Maggie invests $30 000 at 10% /a
compounded quarterly for 20 years.
Determine... —

a) How much will this investment be worth?

b) How much interest did you earn?

o) A= 30300( )(/xzo b) 2870}

EEEIEIEI': 1+8. 18742~
218287 .. 83435

23l 26707

p—
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EXAMPLE #4...

A keen MVHS student wants to save some money from their summer
employment. They decide to take out a Canada Savings Bond which
pays 2.5 % interest per year compounded monthly. If the student
invests $850 into the bond, how much interest will they earn if they
don't touch the money for 3 years?

(\ - EEEIHHEI.EIESHIE:'“

916, 1388521
An=—25H
= 65. 1 ZHES2@5
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HOMEWORK...

_‘ Worksheet - Introduction to Compound Interest.doc

D. 457: #1, 2
p. 468: #2,6,7

Simple Compound

-I = Prt Ty
z E:P(l-l_ ;)j

A=P+1) e

A =P +Prt

A= P(1 + rt)

10
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Foundations of Math 11

Worksheet - Compound Interest








1.  Complete the following chart:











		Principal

		Rate/a

		Time

		Compounded

		Formula

		Amount

		Interest



		$1200

		12%

		5 a

		Semi-annually

		[image: image1.png]A= 12m7(1 +







		$2149.02

		$949.02



		$480

		6%

		3 a

		Quarterly

		

		

		



		$10000

		8%

		12 a

		Annually

		

		

		



		$5600

		7[image: image3.png]



%

		10 a

		Semi-annually

		

		

		



		$80

		10[image: image5.png]



%

		20 a

		Monthly

		

		

		



		$1 200 000

		5%

		7 a

		Quarterly

		

		

		





2.  Examine how varying interest rates and compounding intervals affects the following investment.



		Principal

		Rate/a

		Time

		Compounded

		Formula

		Amount

		Interest



		$12 000

		8%

		15 a

		Annually

		

		

		



		$12 000

		8%

		15 a

		Semi-Annually

		

		

		



		$12 000

		8%

		15 a

		Quarterly

		

		

		



		$12 000

		8%

		15 a

		Monthly

		

		

		



		$12 000

		8%

		15 a

		Daily

		

		

		



		$12 000

		8%

		15 a

		Simple Interest

		

		

		





3.  Which of the following investments would be worth the most money after 20 years?  





		$5000 at 8%/a 


compounded semi-annually

		$7000 at 6%/a 


compounded daily

		$17000 at 2%/a


compounded monthly
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